CHAPTER 19
The Infinitive

Exercise-1 .
Pick out the Infinitive in each of the sentences and say how it is used:

1. tosee: used as a qualifying infinitive: qualifies the verb "have
come'.
2. todrink: used as a qualifying infinitive: qualifies the noun "water',
3. to live: used as a qualifying infinitive: qualifies the verb ‘eat’.
4. to read- noun infinitive : used as the subject of the sentence.
5. to play: noun infinitive : used as the object of 'like".
6. to err: qualifying infinitive : qualifies the adjective "human’.
7. tolearn : qualifying infinitive: qualifies the adjective 'anxious’.
8. sing: qualifying infinitive: qualifies the verb 'heard’.
9. to advise: qualifying infinitive: qualifies the adjective 'easy’.
10. to help: qualifying infinitive: qualifies the adjective 'willing’.
11.  to tell the truth: qualifying infinitive: qualifies the sentence.
12. to win: qualifying infinitive: qualifies the verb 'wish'. |
13. to sit: qualifying infinitive: qualifies the noun ‘chair’.
14. to accept: qualifying infinitive: qualifies the adjective 'honest’.
16. to be: noun infinitive: functions as the complement to the verb
'appears’.
16. to obey: noun infinitive: functions as the object of a preposition.
17. to eat: qualifying infinitive: qualifies 'something’.
18. fearn: - qualifying infinitive: qualifies the verb 'helped' .
19. toleave: nouninfinitive: functions as the object of the preposition
‘about’.
20. to go: qualifying infinitive: qualifies the verb "was told".
Exercise-2

Combine the following pairs of sentences by using Infinitives :

Scanned with CamScanner



~hers’ Guide to A Comprehensive Grammar of Current English
ac

1

2
3
4
5
6
;
8
9

10.

They worked hard to earn. | |

He was sensible enough__to do the nght thing.

The problem is t00 difficult for the students to solve.

The lesson is too long 10 be finished today.

The school appoints Ram to teach Ggography,

We go to a cinema hall to see a movie.

To tell it frankly, | have no interest in business.

These men held a meeting to select a manager for this fa
The man took out a knife to frighten all of us.

To collect old stamps is Pratima’s hobby.
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CHAPTER 20
The Participle

Exercise-1 |
pick out the Participle in each of the sentences. Telf whether it is a

present or Past Participle, and how it is used.
Seeing: present participle: used to express an earlier action of

1.
the same subiject.
2. Being disappointed: present participle, passive; quahfles the

pronoun 'he’, used to express an earlier action of the same subject.
3. haunted: past participle : used as an adjective, qualifies 'house"',

used attributively.
rolling. present participle: used as an adjective, quahﬁes stone

used attributively.
Being occupied: present participle, passive: qualifies the pronoun

5.
‘he’, used to express an earlier action of the same subject.
being closed: present participle, passive: qualifies shops used

to form an absolute phrase.
Irritated: past participle: used to express an earlier actlon

7.
transferred: past participie: used as part of an adjective phrase

put after the noun ‘coliector’ it qualifes.
arriving, present participle: used as part of an adjectwe phrase

4.

9.
put after the noun 'train’ it qualifies.
10, Having finished: perfect participle, actlve used to express an
earlier action of the same subject - °
11. bemg fine: present ‘participle: used to form an absolute phrase.
12, arying: present participle: used as object complement of 'child'.
13.  Killed: past participlé: used as object complement of 'lion’.

Seizing: present participle: used to qualify the noun people

14, :pr
15, Taking: present participle: used to express one of the actions of

Scanned with CamScanner



ect ‘he -
< of sentences py making use of Participles-
ived at midnight.

- > morning.
1 the . heavy bag.
We met a . |gave him some money:
ted W the houseé looked beautiful.
Decor ran away.
: iceman, the rob
Seeing the PO Ao Monica put up her hand.

The answer being

Finding the door open, .
s he body floating down the river.

The police saw t .
: er, he ate his breakfast.

While reading the pap _
t on eating.

10. Having felt hungry, he wen | |
Having reached home, they went to bed immediately.

11.
12. Having won a lottery, he bought & cat.

Exercise-3

Correct the following sentences where necessary.

1 Mr. Sale being the only candidate, | appointed him to the post.
While sitting on the grass, he was bitten by a snake.

It being a very cold day, | remained in bed.
Meeting me in the club, my friend told me everything.

Going up the hill, they saw an old grave.
Observing that the canal was rising, a gang of labourers was

sent for.
0 .
n hearing that there was a vacancy, an application was

sent by me.

DA wN

~l!

8. On joini - -
N joining the-post immediately he was rewarded by them.
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CHAPTER 21
The Gerund

Exercise-1
From the following sentences pick out Gerunds and Participles. If it is

a Gefund, indicate whether it is a Subject, Object, Complement of a
Verb or Object of a Preposition. If it is a Participle, point out the Noun

or Pronoun it qualifies.
Telling : gerund, subject of the verb "help”.

1.

2. coming : gerund, object of the preposition ‘for’.

3. reading and writing : gerund, object of the verb 'learn’.

4. Coming: gerund, with the noun ‘events’ it forms a compound
NOUN.

5. burnt : past participle, functions as an adjective, qualifies 'child".
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gone: past participle, qualifies ‘people’. |
leaving : gerund, object of the verb ‘mind’.
runnir}g - present participle, qualifies "tap"'. |
standing : present participle, qualifies ‘man’.

amassing : gerund, object of the preposition 'in'.

11.  wounded : past participle, qualifies ‘men'.
12. stolen: past participle, qualifies 'articles .
13. Having done: perfect participle,qualifies 'I'.
14. irritating : present participle, qualifies 'behaviour’.
15.  waiting: present participle, qualifies '‘people’.
16. learning : gerund, object of the verb 'begin'.
17.  knocking : present participle, qualifies 'he’.
18. killed : past participle, qualifies ‘tiger'.
19. (1) Having seen : perfect participle, qualifies 'he' (2) coming:
present participle, qualifies 'bear".
20. Dbeing : present participle, qualifies 'weather".
Exercise-2
Replace the Gerund by an Infinitive and vice versa in the following
sentences:
1. Laughing is better than frowning.
2. To write a story is not easy.
3. Helikes collecting books and does not like to give them away.
4. Tofly kites is a favourite sport but betting on them is bad.
5. Heloved reading and writing.
6. She likes to dance and to sing.
7. Toreach schoolin time is always his problem.
8. Painting is good but to paint is not in his vein.
9. Toearn money is good but spending always is undesirable.
10. To apologize for your misconduct is the only way of escaping

punishment.
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THREE -SIMIPLE, COMPLEX AND COMPQy)y
P SENTENCES, ANALYSIS, TRANSFORMATlON D
SYNTHESIS AND DIRECT-INDIRECT SPEECH
CHAPTER 38

sentences : Simple, Complex and Compoungd

Exercise-1 : (1) within call (2) at every turn (3) in 2 Kisa
manner (4) a life of ease (5) full of courage (6) ng 1,
(7) good in parts (8) to swirn with the tide (9) Cqppe

back (10) on duty (11) put up with (12) a man of irgy
will.

Exercise-2
1. | am full of hope about the result of my examination.

2. We wish to live a life free from fear.

3. It is difficult to live with a man of ill ternper.

4. Guru Tegh Bahadur was a man of great courage.

5. This ticket was for yesterday’'s train. It is of no use
now.

6. Wheels used to be made of wood.

7. Our representative in Parliament is a man of great

weight.

8. Kanchenjanga is a mountain of great height.

9. We reached in time for the match. i
(b) (i) He brought the plane down in beautlfu‘\jlﬂi
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The sentries chango dutios ot nudnight. (m) Ho shoutod
tor help at_the top of his voice. (iv) Who knows what
will happen in the long run ? (v) The celobrations wore
to the entire satistaction of all present. (vi) Tho magician
made the elephant disappear in tho twinkhng ;»I an
eye. (vii) I promiso not to repeat this mistakoe in (uturo.
(viit) I was justin time for the 7.40 tram., (iv) This hair
style has, now, gone out of fashion. (x) You will find
the guard at his post for certain.

(c) (i) It is always a joy to win a prize. (i) Early to bed and

early to rise is a practice followed by very few
nowadays. (iii) | would love to walk on the green grass
but where can | find it ? (iv) It is not possible to answer
the question with a simple 'yes’ or ‘no’. (v) | don’t
know what to do about my lazy brother. (vi) How
could he do such a thing to his own wife ? | am
looking for the place of our first n"eeting.

Exercise-3
Pick out the Principal Clause and the Subordinate Clause or

Clauses in the following sentences:

1.

25

‘hand. Principal clause, that were pro

Burke spoke: Principal Clause; as though he were a born

orator: Subordinate Clause.

He thought: Principal Clause; that the traitor should be
put to death: Subordinate Clause.

The people told him: Principal Clause; When at last he
reached the bank: Subordinate Clause; that he had won
the wager: Subordinate Clause.

The newspaper will tell us tomorrow: Principal Clause:
what the world is doing today: Subordinate Clause..

In the Middle Ages the few books ......were written by
duced at all:

Subordinate Clause.
Artists drew their pictures on Stones. Principal Clause;
when the world was young: Subordinate Clause.

I could not bear: Principal Clause: what he said:

Subordinate Clause. because it was most insulting:

Subordinate Clause.
Have you heard: Principal Clause: that Shyam has been

beaten by Prem: Subordinate Clause.
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9. ;:,L:z :;;(r:r ‘/:;II!;W e (0 ,f,,_. place: Principal Clause; whither
Jo.: Subordinate Clause:,
10. My' brother hopes: Principal Clause; thal you will pay us a
visit: Subordinate Clause,
Exercise-4
l. State which of the following sentences are Compound
and which are Complex:
1. Compound 2. Complex
4. Complex 5. Compound
7. Compound 8. Complex Complex
10. Compound 11. Compound 12. Compound
Il. In the compound sentences in Exercise 4, separate the
Co-ordinate Clauses and mention the Conjunctions
Connecting these Clauses.

Compound Sentences
1. The building was destroyed by the earthquake

The whole family was saved
Conjunction: ‘but’

5. Not only was he hard working
But also possessed a robust constitution
Conjunction: * but’

7. He was exceedingly grateful
We parted from each other in the best of moods

Conjunction: ‘and’
10. He must not attempt to escape
He will be put to death
Conjunction ‘or’
11. We desire to succeed
We work
Conjunction: ‘therefore’ .
12. Neither the colour of the cloth appeals to me
Nor the design of the cloth appeals to me
Conjunction: neither . .". nor.
lll. In the complex sentences in Exercise 4, state the Princ
Clauses and the Subordinate Clauses.
Complex Sentences
2. Looking behind, he saw a snake : Principal Clause
That was following him: Subordinate Clause
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( shall set up a grocer’s shop: Principal ¢y
if | do not pass the examination: Subord;
He said: Principal Clause

That he was so disappointed: Subordinate )

ause
nate Clause

ause

“That he would not try again: Subordinate Clause

The army of men .... are masters of pe
statesmen: Principal Clause

Wwho rule the world with their pens: Subordinate Clause
The evil....lives after them: Principal Clause

That men do: Subordinate Clause

7.1 | — is not gold: Principal Clause

That glitters: Subordinate Clause

oples and
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| he sentlewoman said these words o the docrog i
y 1. & o
: [ hey were discussing, Lady Macheth,
. b
[ hese words tell us that the gentewoman is d pendable apd | |
l. ¢ . I an OVa
Ty [ he tln\lt'ﬂ SV S t!“'“' “““‘N‘
1 B lh-.‘ \“.\C.l\( 15 []l.ll l.ld\' r\‘.lkht'lh 15 \\.I”ﬂll:,'. 1 |||: -.i.-,-l, She 1§ agit | i
. 4 '.I Alea and s I 1::

l[ I8 l\L‘\nlhl lht' \1(1\[111'5 l‘ll.ltliu' l'll'l.lll'\l' lll' lI.I‘. neven .|,-;,]| WII'I i | f
WO

According to the doctor, Lady Macbeth's guilt is the cause of her illness, Her hears
- d ] . " e |
chargd” with the burden ol the guilt and that is responsible for her illness

» The gentlewoman feels that there should be a witness to confirm her speech because whar she

avs would not seem believable.

B l.ll.l_\' h‘.l\'l‘t‘lh S5aVs lll.l{ {llt‘_\' h!ll‘lllltl not IN.' S0 .lll'il lln.lll'.l' llnlmt|:,' ]-;:n w about the deed
committed.

+. Lady Macbeth imagines blood on her hand owing to her guilty conscience and therefore, she
says that not even the sweetest perfume will be able to remove that. This tells the doctor that

her mind is infected and not just the body.

> Lsd_v N[.\t;ht‘th 1S J waoinan f";lL'ill‘L‘; o Illt'lll;ll i”l'l('h\. H]lt' II.‘Itl tnmmill{'tl d hr:rlih!f' r‘if.'f.-fi In the

past but is unable to deal with the guilt.

ccept any relevant response. Suggestions:

g . Wiy . - e ; ae hiz + and
M'.lcbcth Sllﬂ(‘l‘cd lmm fct'llllgh ol }.’,lllll :llnl hnl‘rnl'. \hr wias awarc of what she had done an

that it was evil.
s washed her hands in an effort to wash away her guilt.
it the deed.

, X , ommi
ly Macbeth was evil as she was clearly the one who had urged her husband to co

her conscience did not allow her to rest and left her in a pathetic state.

5. fantastic and fantabulous

| rtaipiment
6. information and entertainm

7. medical and care

g. high and technology
5. d
‘ : : ) l 0. h
5. C il
3. f e E ot
{ 5. P;Iﬁ.‘-l\’l.
455 1ve 3. active 4. active

s plays.
develops websites.
ted the sports academy.
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2. true 3. false
(e as a combinati A 4 false
' v mech was a combination of traits and . ! alse
A 3 Kabirs 5ptt-t»h r d Major S Fs People from diff 5. true
[ kalp Kumar an ajor Seln(lc(-‘} U““ikri-,-hm[ rent walks of G
AN were ¢

i
tWO Wh

. Colonel 5an
Plt: have Stir

- to talk about their traits because thee. 0 b
w.mtt‘d use these peo were spoken abou,

. Kabir -
red his heary and had ap

impact on him. '
Major Sandeep Unnikrishnan said these words 1o his team
1 & .

" The speaker was referring to the terrorists.
b. p .
. Unnikrishnan wanted to protect his team and theref.. 1
. Major Un P d therefore did not allow them to
come up-
¢ 1. The children before Kabir spoke about actors, sports cars and politicians.
), Kabir was nervous because he was not used to facing the entire class and speaking out loud. He
. Jlso chought that he did not have the ability to make good speeches.
. Kabir called Vishnu Zende a dutiful man because Zende was an announcer with the Mumbai
i railways and without thinking about his own safety, he alarmed the people and asked them to

use a different exit.
+. Hemant Karkare was fearless because he pursued the terrorists in a jeep without thinking of his own safety.

s Mohammed Taufiq helped in transporting the injured to St George Hospital.

D. Accept any relevant response. Suggestions: . s
. Yes, Kabir's description was very touching. They were descriptions of ordinary people, from the
daily walks of life, who rose to meet the crisis and became heroes. it
’ *ho ac - ey C
2. Their quality of bravery impressed Kabir for they were all people who acted because the)

[ h act which had touched his heart. ‘
e abir's heroes. Courage is what helps us 1

3. I would like to be brave, fearless and selfless like K us to act for others.

face the various crises of life and selflessness allows - x

face the 5.

. _ 4. C A " -
Eib 2ad 2 8 _ 4. In the past 5. previousy
o e it is a very small ©OW?-

= BRI

E 1. recend 2. latel
RS : 4 | there becaus :
G. 1. However, father had told us not to expect good Eotc :
R - o £as. e
2. Tomorrow, if it is a clear day, we will visit the Me :
3 'Wmthat be all?” was his unStiOTI- ou come Of not.” g
4 “It does 't make any difference,” said she, “thth?r } alf 2 leagu® : é
. .a' e .t}l : Na[ayan?" Shc inquerdv : Wl[h [he line. h g
at’s the marter with you, ber the poem that egins 12 years old g
. r o
replied, “I am trying to e IZ hi, even chough T W A 8
OCI, »
Club- =
of the Gymkhand 205
o the library’ X

; if hc oﬁen gOCS ik , .
{F 1 had received the certifict®® gy buyiné

| the shopkeeper whether the book ¥
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t. Teacher asked Rohan why he had not brought his English book that
ad she learnt to sing that we||

; drty.
5. The reporter asked the singer where h

I. 1. The teacher told his students that they would visit the Old People s I
2. Mrs Baruah suggested that they could discuss people and traits, o hida}t

3. The monitor requested the boys to walk fast.

The doctor advised Mahua to eat plenty of green vegetables every day,

5. Myna proposed that they starc their work.

]. 1. Aditi exclaimed that my speech was marvellous.
Gary Kirsten observed that it was a great shot. He added that Yuvraj was i, ereat

Shalu exclaimed that Mrs Baruah was her favourite teacher.

Mr Devesar informed that Bharatpur is the best place to watch migratory birgs
Jennifer exclaimed that she was going to teach online from the next day.

The class monitor shouted that they were going for a recital the coming week.
K. 1. A P ] Abdul Kalam was born on 15 October, 1931 in Tamil Nadu.

He took up odd jobs in his childhood to support his family.

He enrolled at MIT to study aerospace engineering.

Kalam was the project director of India’s first Satellite Launch Vehicle at ISRO.
Abdul Kalam served as the eleventh President of India.

6. The highest civilian honour bestowed on Kalam by the Government of India was the Bh

form tha

'
el
.

VIS

AT SV

cept any relevant response. Suggested outline:
ere is no excuse for terrorism — no faith, no religion in the world allows for the innot
ed and harmed — anyone who believes strength is winning over others by force, is wr
fong to support this kind of belief — I believe love for human beings rises above all
ks can be stopped if all men stand together

pt any relevant response. Suggested outline:

person I admire is not one single person, but the unknown soldiers who guard
T un[r)f.

are brave, fcarless — they can endure — they face the harsh climate, the pain 0
rom their families, danger from the enemy — people are not aware of chose v
ves 5o that the rest are safe — they inspire us to be selfless

soldier is merely a face for us — but he is someone’s son, someones !
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313 WTET &t ata (About the Language)

r=teRas e
¢ U U ws  oik oS W wes €1 570 U ST Wiﬁ i
WS ¥l § gefe— (‘= is a verb and ‘=@’ is a noun. In this way change the
following verbs into nouns.)

LEs FE Akl BeT ;5 Dells ,
g 5;[-1#:4 Il $haF , Pcls ,
a =TS

¢ R wre R+ srorr @ Rrerae e emerr TSI Y Ui S AR Ty
(Theword Himalayais made up of two words— ‘@ and s’ . Make five otherwords by
addingthe suffix* AT’

wa -'HM"] T = S}GFH(T—F‘T _!%?Wﬁ

X5 13T = JEABITT iz B [ e AT

¢ PR vt § W sewt 1 e semare ww Forre- (Separate the root

word and prefix from the following words. )
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tischy,.  Creative Activities
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interest?)
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(Tezing Norgay and Edmund Hillary have beaten the record by reaching the highest peak
of the Himalayas. Name five such persons who have beaten the record in different

fields.)
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CH.9

Time To Leamn
I. Fill in the blanks:

1. The British shattered the self sufficient v llage economy.

2 The controversial lloert Bill incident took place in 1883.

3. The Arms Act forbade the Indians from possessing arms.

4 The Presigent of the first session of the Congress was W.C. Bannerji.

5. Bal Gangadhar Tilak raised the slogan "Swaraj is my birthright”.

&. The three prominent leaders of the Radical Naticnalists group were Lala Lajpat Rai, Bal Gangadhar
Tilak, anc Bipin Chandra Pal.

7. Mahatma Ganchi was bom on 2nd October 1869 at Porbandar.

8. Gandhiji's method of agitation were Satyagraha, boycott and strikes.

9 The incident at Chauri Chaura took place on §* February 1922

1ll. State whether the following statements are true or false:

1. The Congress was started in 1885.

True.

2. Unification of India as one political unit was achieved by the Indians themselves.
False.

3. The British treated the Indians at par with themselves.
False

4_ A prominent leader of the Early Naticnalist groups was S.N. Bannerjee.
True.

5. The religious and social reform *movement divided the Indians.
False.

6. The Home Rule League was formed under the leadership of Tilak.
True.

7. Chauri Chaura is a place in Madhya Pradesh.
False.

8. Rowlatt Act was passed in 1923.
False.



II. Match the contents of Column A with those of Column B:

Column A Column B
1. Annie Besant (a) Khilafat Movement
2. Morley-Minto Reforms (b) Home Rule League
3. Muslim League (c) 1909
4. Surat Split (d) Nawab Salimullah Khan
5. Ali brothers (e) 1907
Answer:
I. Annie Besant (b) Home Rule League
2. Morley-Minto Reforms (c) 1909
3. Muslim League (d) Nawab Salimullah Khan
4. Surat Split (e) 1907
5. Ali brothers (a) Khilafat Movement

Question 1.

How did unification of India help to bring about a feeling of nationalism among the Indians?

Answer:

Political and administrative unification of India helped in the rise of nationalism. Under the British rule India
was united as one political unit. The uniformity in laws and administration gave rise to a feeling of oneness
among the people

Question 2.

How did modern education bring about unity among Indians?

Answer:

Indians who received modem education could now read western thought and literature. They were exposed
1o the revolutionary changes taking place in the west - the American and French Revolutions. They became
aware of the ideas of democracy, equality and nationalism. The reform movement also played an important
role. All this brought the people together and created unity among them.



Question 3.
Name two early all-india associations.
Answer:

1. British Indian Association, 1851.
2. The Bombay Association, 1852.

Question 4.

Why was the need for establishing an all-India organisation, representing Indian opinion, an urgent
necessity?

Answer:

The need for an all India Organisation representing Indian opinion had been felt for a long time, but the
immediate reasons which saw its birth, were the repressive policies of the British in the 1870s and the
1880s. In 1883 the controversial llbert Bill incident tock place. According to it a British or a European in India
could be tried by an Indian Judge. The Bill was withdrawn because of the opposition by the British.These
events made the need for establishing an all-India organisation, representing Indian opinion an urgent
necessity.

Question 5.

Differentiate between the methods of Early Nationalists and Radical Nationalists.

Answer:

The Early Nationalists had faith in the British system of administration and believed that India could develop
by staying within the British Empire. They did not demand complete independence but dominion status i.e.,
autonomy or Swaraj within the British empire. 1905 onwards new trends began to appear in the nationalist
movement. Bal Gangadhar Tilak, Lala Lajpat .Rai and Bipin Chandra Pal were the leaders who brought about
this change. They said the aim of Indians should be ‘Swaraj’. They criticised the policies of the Early
Nationalists and said people have to rely on their strength rather than "Prayer and Petition”. Tilak raised the
famous slogan "Swaraj is my birthright and | must have it".

The methods they suggested to achieve it were:

1. Involvement and participation of the masses
2 Reviving popular Festivals to spread Political awakening among people.
3. New methods of agitation such as hartals and boycott of foreign goods and services.

Question 6.

Which factors contributed to the building up of the feeling of nationalism in India?

Answer:

There are several factors responsible to the building up of the feeling of naticnalism in India.
They are :

1. Discontentment against British Rule.

2 Political and Administrative Unification.
3. Economic changes.

4 Spread of modem education.




Question 7.

List down the aims of the Muslim League.
Answer:

Aims of Muslim League:

1. To promote loyalty to the government
2. To protect and advance the interest of the muslims
3. To ensure that Muslims do not develop the feelings of hostility towards other communities in India.

Question 8.

Describe the provisions of the Government of India Act (1919).

Answer:

The Provincial Legislative Councils were enlarged and a majority of their members were to be elected. A
new system called Dyarchy was introduced in the provinces. Under this system some subjects, such as
finance, law and order were called reserved subjects and remained under the direct control of the Governor.
Other subjects such as education, public -health, local self government were called ‘transferred” subjects
and were to be controlled by ministers responsible 1o the provincial legislature,

Question 9.

Describe the constructive programme introduced by Gandiji.

Answer:

The social reforms and the constructive programmes introduced by Gandhiji changed the character of the
national movement to a mass movement. He worked towards removing untouchability. He also worked for
the upliftment of the people living in the villages. He said that the majority of India’s population lived in the
villages and hence our country could progress only if there was development in the villages. He encouraged
setting up small scale industries in villages. He also popularised Khadi. The Charkha became an important
symbol. Gandiji believed that Independence was meaningless without social and economic equality.

1. Identify and name them.

Ans. They are Lala Lajpat Ral, Bal Gangadhar Tilak and Bipin Chandra Pal.
2. Write about the methods which they suggested.

Ans. They suggested idea of boycott and Swadeshi. They insisted on involvement of the masses.
3. What was the famous slogan raised by Bal Gangadhar Tilak?

Ans. "Swaraj is my birthright and | must have it”



CH.10

I. Fill in the blanks:

1. The Swaraj Party was led by CR. Das and Motilal Nehru.

2. All India Trade Union Congress was founded by N.M. Joshi in 1920.

3. The Quit India Movement took place in the year 1942,

4. Congress Socialist Party was formed in 1934.

5. The chairman of the Simon Commission was Sir John Simon.

6. The Congress session of March 1940 was presided over by Maulana Abul Kalam Azab.
7. Subhash Chandra Bose formed the Forward Bloc in 1939.

8. "Diii Chalo’ and "Jal Hind" were two slogans given to us by Netaji Subhash Chandra Bose.
9. Lord Mountbatten came to India in 1947 as Viceroy.

lll. State whether the following statements are True or False:

1. The Charkha was a symbol of progress.

True.

2. The Congress participated in the first Round Table Conference
False.

3. The Congress swept the polls in 8 provinces in the 1937 elections.
True.

4. Sir Stafford Cripps was an American officer sent to India.
False.

5. Netaji started the Quit India movement
False.

6. It was because of British presence in India that the country was made a target for Japanese attack
True.

7. Netaji was the commander of the Indian National Army.
True.

8. In 1958, the British government announced its decision to quit India.
False.



Il. Match the contents of Column A and Column B:

Column A Column B
1. Lord Mountbatten (a) Jawaharlal Nehru
2. ‘Do or Die’ (b) Subhash Chandra Bose
3. Revolt of Royal Indian Navy (¢) Mahatma Gandhi
4. Subhash Chandra Bose (d) Viceroy
resigned from Congress
presidentship
5. Quit India Movement (e) 1942
6. Azad Hind Fauj (N 1939
7. Interim government (g) 1946
Answer:
1. Lord Mountbatten (d) Viceroy
2. ‘Do or Die’ (¢) Mahatma Gandhi
3. Revolt of Royal Indian Navy (g) 1946
4. Subhash Chandra Bose (H 1939
resigned from Congress
presidentship
5. Quit India Movement (e) 1942
6. Azad Hind Fauj (b) Subhash Chandra Bose
7. Interim government (a) Jawaharlal Nehru
Question 1.
Discuss the main aspects of the Non-Cooperation Movement.
Answer:

The growing antagonism of the Indians towards the British led to Khilafat and Non-Cooperation Movement.
Gandhiji looked upon the Khilafat agitation as an opportunity of uniting Hindus and Muslims as would not
arise in a hundred years. The Noncooperation Movement was named so because it decided not to
cooperate with the Government by renunication of titles, boycott of legisiature, resigning from government
jobs, lawyers leaving courts, students leaving British schools and colleges, boycott of British Goods and
other activities. People refused to pay taxes, no longer recognising government as legitimate.

Question 2.

How and when did the Civil Disobedience Movement start? How did the government suppress it?

Answer:

Civil Disobedience Movement was started on 12 March, 1930 when Gandhiji marched from his Sabarmati
Ashram in Gujarat to Dandi (375 km from Ahmedabad). He carried on this march with 78 followers to break
the Salt Law. He defied this law by picking up a handful of Salt formed by the evaporation of Sea water.



Question 3.

Why did the Congress pass the Quit India Resolution? How did the government react to it?

Answer:

The All India Congress Committe met at Bombay on August 8, 1942 and passed the Quit India Resolution.
After the Cripps Mission failed, this great Mass struggle for Independence was launched by the Congress. It
was the greatest mass challenge to the British authority. It shook the foundations of the British Rule.

Question 4.

Discuss the main features of the Government of India Act, 1935.

Answer:

The Act provided for the establishment of an All India Federation. Thers was to be a bicameral federal
Legislature.

1. Only 14 per cent of the total population in British India was given the right to vote.

2. The federal legislature was denied any real power. Defence and Foreign Affairs remained outside its
control while the viceroy retained special control over the other subjects.

3. A new system of government was to be organised in provinces on the basis of provincial autonomy.
Ministers responsible to the provincial assemblies were to control all departments of administration.

4. But the Governors were given the powers to veto any legislation and also to legislate on their own.
Governors also retained full control over the civil service and the police.

5. The Viceroy and the Governors were to be appointed by the British Government and were to be
responsible to it.

Question 5.

Why did India accept the partition proposal even though it did not accept the two-nation theory?

Answer:

Lord Mountbatten came to India in March 1947 as the new viceroy. He presented a plan for the division of
India into two independent states India and Pakistan. In 1946 there had been communal riots in Bihar,
Bengal and many other places. When partition was announced, more riots took place especially in Punjab.
Thousands of people were killed and many more were rendered homeless.

The Congress agreed to the plan of partition not because of any faith in the two nation theory but because it
felt that there was no other way to achieve freedom and prevent and destruction.

Question 6.

Discuss the contribution of INA in the freedom struggle.

Answer:

The Indian National Army was formed with a aim to get freedom from British rule. It comprised Indian
prisoners of war. Subhash Chandra Bose became the Supreme Commander of the INA. He gave slogan’ Dilli
Chalo’ and ‘Jai Hind'. In 1943 Netaji proclaimed the formation of Azad Hind Fauj in Singapore. He proceeded
to the Andaman and Nicobar Islands which the Japanese had taken * from the British and hoisted India's
flag there. He then conquered Imphal and Kohima.But the victory was short lived. Britain reestablished
control over Burma. The INA was defeated. Japan surrendered after the atom bomb attacks.



Question 7.

Disc

uss the main clauses of the Indian Independence Act of 1947

Answer:
Main clauses of the Indian Independence Act of 1947:

. Two independent dominions, namely India and Pakistan, shall be set up on August 15, 1947 Pakistan
was to be comprised of Sind, Baluchistan N.W.FP, the West Punjab and East Bengal. Rest of the
territories were to be included in India.

2. The British Government was to have no control over the affairs of the dominions after August 15,

1947 and world transfer all powers to the Assemblies of India and Pakistan.

3. The office of the Viceroy was to end forth with and replaced by a separate Governor- General for each

dominion.

4 The Constituent Assemblies of both the Dominions would frame their respective Constitutions and

| =~ & W

w

would decide whether to stay with the British commonwealth or not.
. The Constituent Assembly of each Dominion shall exercise the power of the Central Legisiatures.
. The Legislature of each of the new Dominions shall have full powers to make laws for that Dominion.
- The right of the king to veto laws was given up. This right was given to the Governor-General.
. Till the new Constitution was framed, each of the dominion and all Provinces were to be governad in
accordance with the Act of 1935
. The states would have the choice to join with either of the dominions or to retain their independence,

10. The Governor-General was given the powers to modify or adopt the Government of India Act, 1935 by

11.

March 31, 1948.
The office of the Secretary of State for India was to be abolished.

12. Agreements with the tribes of the NWFP were to be negotiated by the Dominion concerned.

1. Which conference is in progress.
Ans. Second Round Table Conference.
2. When and where was this conference held?
Ans. It was held in London in 1931.
3. Who were the main participants in this conference?
Ans. It was attended by Agha Khan, B.R. Ambedkar, Madan Mohan Malviya and Gandhiji among
others.
4. What was the result of this conference?
Ans. There was no conclusion again at the conference and it ended in a failure
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EXERCISE ANSWER KEY

CH - 5 Natural & Man made Disasters.

Fill in the blanks.

Calamity.

Man made.

Landslides.

Due to natural factors.

Uttarakhand.

Explain the following.

When disasters occur due to natural forces are called natural disasters. A natural disaster is a
disruption in the balance of the environment. Some of the natural disasters are:- Earthquake,
Tsunami, Flash flood, Volcanic eruptions and Cyclones etc.

When disasters occur due to human activities & negligence are called manmade disasters. A
manmade disaster can be both, intentional and unintentional. Some of the manmade disasters are:-
Nuclear disaster, Chemical or Gas leak, Terrorism, Fire and Accidents etc.

A disaster that is linked with both manmade & Natural disasters is called Hybrid disaster. When a
disaster is triggered with due to occurrence of one disaster is called Hybrid disaster. For example:-
Drought, Landslides & Famine etc.

Answer the following questions.

A disaster is a sudden calamity that may cause displacement of a great number of people, loss of
life, property & industry. It often results in the permanent change in surrounding and environment.

There are three main types of disasters:- i) Natural disaster ii) Manmade disaster iii) Hybrid disaster.

Some causes of disaster are:- i) Uncontrolled Urbanization ii) Human negligence iii) Over & Misuse of
natural resource etc.

Three effects of the earthquake are;- i) Tsunami ii) Loss of life and demonization of buildings. lii) fire
iv) Epidemic etc.

Tsunamis are a series of waves with a long wavelength and period, generated by a large impulsive
displacement of the sea bed. Earthquake of seafloor, landslides under water and volcanic activities
can trigger a Tsunami. The last Tsunami occurred in India was of 26 Dec 2004

The preventive measures during floods are:- i) The electronic appliances and connections must be
disconnected. ii) The area must be evacuated at the first sign of warning. iii) Keep stock of essential
items like:- drinking water and food etc.

The Bhopal Gas Tragedy occurred on the night of 2" and 3" Dec 1984.

The long term effects of Bhopal Gas Tragedy are:- i) Soil Toxicfication near to UCIL plat. ii) Still birth
rate increased up to 300% and neonatal mortality rate by 200%. iii) The hazardous health concern
still continues.




10.

11.

12.

13.

14.

The main causes of Hybrid disasters are;- Deforestation, Rapid industrialization and over or misuse
of natural resources.

Disaster management means controlling and reducing the effects of a disaster. A disaster
management is concerned with activities like:- creating awareness among the people, prevention of
disaster, mitigation of loss due to disaster, rehabilitation and reconstruction of disaster affected
areas

NDM stands for National Disaster Management framework. Its main objective are to create
awareness about disasters, training of engineers, architects and masons for safe construction, train
volunteers to mitigate the risk of disasters.

The main causes of Uttrakhand flood were heavy rainfall & cloudburst. The main effects of these
floods were:- 1) Damage to the roads and bridges left 70000 people get trapped in Kedarnath valley.
2) 5748 people were reported missing and 1000 people were reported dead.

The fire safety is the set of practices intended to reduce destruction caused by fire. Fire measures
include those that are intended to prevent ignition of an uncontrolled fire, and that are used to limit
the development and effects of a fire after it starts. The measures can be taken are:- 1) Install
smoke detectors. 2) Fire drills etc.

The remote sensing is the science of acquiring and analyzing information about objects &
phenomena from a distance through aerial photography and satellite remote sensing. Through
remote sensing we collect and analyses the various information, which helps us to detect natural
disasters like Tsunami and earthquake etc.

Give reasons.

A disaster can be caused by both natural and manmade activities.

Because a domestic fire easily turn into uncontrollable fire.

Because misuse and overuse of natural resources may lead to a natural disaster.
Because natural resources are exploited and misused.

Due to Uncontrolled urbanization, deforestation, misuse and overuse of natural resources.

3k 3k 3k ok ok sk ok 3k ok ok %k ok ok ok sk k ok




V.

© oo N

10.

O No gk

15.

16.

17.

EXERCISE ANSWER KEY

CH - 7 Asia: Climate, Natural vegetation and Wildlife

Fill in the blanks.

Tibet plateau.

Ural Mountains.
Evergreen / Rain forest.
Polar region.

Tibet.

One word answer.
Landlocked.
Intermountain plateau.
Coniferous.

Island.

Tundra.

Give reasons.

Due to change in temperature and pressure over land and sea.

Because ocean currents has moderating influence on the climate of coastal areas.
Because Indonesia is located near equator.

Distinguish the following.

Tundra type of vegetation is found in Northern Russia above the Arctic Circle. As the area remain
snow covered it consist only mosses and lichens. The equatorial veneration is found on the either
sides of the equator. The vegetation is evergreen and variety of trees like:- Rosewood, Rubber and
Cinchona etc.

1) The deciduous trees have broad leaves. 2) They have trees like Teak, Sal, Peepal and Neem etc.
1) The desert vegetation has thorny leaves. 2) They have plants like:- Cactus, Bushes and Shrubs etc.

1) The Monsoon forest has vegetation from evergreen to deciduous. 2) It has hardwood trees. 3) For
example: - Bamboo, Neem and Sal.

1) The Taiga type of vegetation is evergreen coniferous trees. 2) It has softwood trees. 3) For
example:- Pine, Fir and Cedar etc.

Give reasons.

Factors that effected climate of Asia are:- Latitude, Distance from the sea, Distance from the sea,
Monsoon winds, Direction of the mountain ranges, Ocean currents.

1) Temperature during summer is high in lower latitude, where as temperature remain moderate
above mid latitudes. South Asia gets heavy rainfall during this season by winds called monsoon.




2) Temperature during winter remains very cold in upper latitude, where as it remain moderate to
cool in mid latitudes. During winter season eastern parts of Asia gets heavy rainfall.

8. The coniferous forests are found in the broad Taiga belt in the Central parts of Siberia.
9. Refer question IV part (1).

10. Himalayas act as climatic barrier, it do not allow to cold Siberian winds to enter in South Asia as well
as it do not allow S-W monsoon winds to escape from South Asia and cause heavy rainfall in this
region.

3k 3k 3k 3k ok sk 3k 3%k ok ok %k %k %k %k %k k ok
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CHAPTER 6. Heat Transfer

Kk point 1

Ghlecslow; fast 2. different 3. increases

ch

. more 2. 3

cck Point 2
3. three

check Point 3
1. volume 2. more 3. loosen/sag

TEST YOURSELF

Al

5.
B. 1.
C.1

. Aim: To sho

. absorbed 2. cooling 3. expand; contract 4. gases
thermal expansion 6. rod or wire 7. volume
Linear expansion 2. Area expansion 3. Bimetallic strip

_ Coefficient of linear expansion: The increase in the length
of the solid rod or wire per unit original length per degree rise
in temperature is called coefficient of linear expansion.

Coefficient of superficial expansion: The increase in the area
of a thin sheet of solid per unit original area per degree rise in
temperature is called coefficient of superficial expansion.

Coefficient of volume expansion: The increase in the

volume of bulk solid per unit original volume per degree rise in

temperature 18 called coefficient of volume expansion.

w that solids expand on heating

Materials Required: A metal bar, a gauge and a burner
.edure: Take a metal bar and a gauge such that the bar
Kpnce : the gauge. Take the bar out and heat 1t over a

into .
exactly fits 10 utes. Now, try to fit it again into the gauge.

min
burner for fev;e able to fit it now. This 1s because the bar has

You will not

ded on heating. |
tz}xpa::lusion: The solids expand on heating.
on
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A s B
2. The linear expansion of a metal rod on heating depeng 6 ise lrlri
(n) Original length (L), ® on; Mi‘t’c a
(h) Rise in temperature {A’”‘,"ml c()l'"{’ ¢
(¢) Nature of the solid material Procet
3. The unit of linear expansion (‘t}t’”it'.li{'nf, of a solid g e with 2
unit is also expressed in /°C or °C 7 (per degreo Celgiyg, I,}_l'l’-a. cor¥ 2
brass expands more, V- The ﬂa.‘-ik f
4. Coefficient of linear expansion, it 0 @
_ Increase in length of wa'
a= Original length x Rise in t_(—r;_r;;]"t{l;‘ ” wate!
AL ' the f;
T LxAT (i) 19‘:
¢
Coefficient of superficial expansion, ?viﬂ
Increase in surface area (
B == — - - A e lev
Original area x Rise in temperature . K
A ex]
T AxAT (1) _ Tk
in
B=2a ‘ .
g = 2AL _ s 'k
LxAT ?
Coefficient of volume expansion,
_ Increase in volume
,Y - Original volume x Rise in temperature
AV
= T (171
V x AT (i)
Y = 3a
3AL
LxAT
8 AL 2AL 3AL ¢
a:B:y= i :
LxAT LxAT  LxAT
a:B:iy=1:2:3
5. If the given thin sheet of solid is heated, its surface area increases
and the thermal expansion is called superficial expansion.
: - ]
The superficial expansion depends on: -
(a) Original area (A)
(b) Rise in temperature (A7) E.
(c) Nature of solid material
104 | \
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. im: - erature. A give
D('nds on. 6 44(‘ in temp e ’ Elven
. gaterials g oy oo flask, 4 apillary .., |
N K a stand and water € 4 rubhe,
rk. .
| co ocedure: Take a glass flagk fitted
— . n
8 K-1 Initial feye|

i o
.}S]us)' T‘;I]IS
()

Tagg
at[jre

P'th a capillary tube and g rubbep
mk as shown in the figure, Fill the
;ia sk fully with coloured water and fix
it in a stand. Notg the initial leye] A
of water in the capillary tube, Using 4
water tub and a burner, start heating

To show that liquids expang More

than solidg for

o

Capillary
tube EL -Final leye)

Coloured
Water

— Flask

the flask. Observe carefully the water

. (i) Jevel in the capillary tube.
Observation and conclusion: Yoy
will observe that, Initially, the water
= Jevel falls to B, but then begins to rise again and fi
C. Analyse the cause. Initially, water level falls ¢

(i)
This shows that liquids expand more than solids fo
in temperature,

7. The three practical applications of thermal expansion of solids
are as follows:

(a) A small gap is left between two successive rails to make room
for thermal expansion while laying rail tracks. If it is not
done, the rail may bend due to thermal expansion in summer
and it may cause accidents.

(b) Concrete floors are laid in small blocks with smail gaps
) between the blocks. It allows expansion of blocks during
summer and the floor does not crack.

(c) When telephones and electric wires/cables are connected
between two poles in summer, thej_z are int?ntlonally kept
loose. This is done to prevent their snapping when they

contract in winter. | |
8. Thermal expansion of liquids, e.g., mercury/alcohol is used in

S.

therrflon:;?:il;ting of brass and iron rods of equal lengths welded

B LB called bimetallic strip. The bimetallic strip bends on

toge{;hel;irlse to unequal expanéion for the same rise in temperature.

heatl:\io rods expand unequally because they have different

10. T_h‘;"neters and thus, different areas. .
g;alse; All solids expand differently when heated to same

E- in temperature.
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2.

diameter than the wheel to make them fit tightly gye, the w}
W

3. Tru
4, True 75 .
5 alse: [sxpansion coeflicient of pyrey Blnag jq ]
e Ll ) ' ool
ordinary glass. - ”]"'1 1}
ﬁ- ’rl'l"‘ LT "
7. True
g, False: Both mercury and alcohol expan( on henys
. Ning
- 1.—M)  2.—(d) 3.—(e) 4.-() 5.-(c) 6.—(a) %

While laying a rail track, a small gap s qp |
. e o i e
successive rails to make room for thermal €Xpansiop tWeen t
s el s : ' N gum. 0
Concrete floors are ]al(-l in small blocks h{lV]ng smal] Zane Hmm‘,r
the blocks. This provides room for the blocks tq E'pr:s h"lw%r
summer and the floors does not crack. nd durjp,

The iron rim of a wooden wheel is made a litt)e smal
b a or ‘

n

The rims are heated before fitting over the wheels and the ee|,
ncgld

water is poured on rim after fitting so that they Contracy
ang

grip the wheel tightly.
One end of steel girder in a bridge is kept on rollers Insteaq o
0

fixing it to avoid any damage to the bridge due to eXpansiop o
0

girders in summer and contraction in winter.,
Some empty space is left in sealed wine bottles in order to ally

room for thermal expansion of the liquid. If no space is left
- especially in summers, the bottles will burst. '

Metal pipes used for carrying steam have joints in the form of

loops because the pipes expand and contract due to change in

temperature. As a result, the curvature of loops changes ang
there is no damage'to the pipeline.

. Linear coefficient of the metal,

o= _AL
LxAT
_ 1.0ecm
3 mx (200 - 0)°C
YL S
3x100x 200
1x10

-—_--_-_-_‘_‘—‘—!—-_
6x10%x10

_ 10
6x10° 1.66 x 105

= 1,7 107%/°C
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,xpﬂnsinn coefficient, o = ?
.nal € . ‘ ) .
pined JJjume expansion coefficient of 5 solid,
2' .ven' Ve
I

Gi Y=7.2 % 10°%9C
| = 3a
S thun thay AR WE knot 7.2 % 1(]'5:"°(§ = 3a
oF | or 7.2x1075
| . 3 T 24x107%eC
ng. . " Coefficient of superficial expz;::;g;s,ei
_ n surface area, A4
etweey ‘; Original area, A x Rise in temperature, AT
nl;:i::::]ief - 2.4 x10°= Increjs:l Lr;s:;r)t:s:;e(:)air;;, AA
'and dllrisg i 2.4 X 107 x 12 x 80 = Increase in surface area, AA
smalley. ; or increase in surface area= 2.4 x 9g x 10‘: m?
the wheg) =24 X 96X 107 x 10! em?
I then cold (v 1m* = 10%*cm?)
itract and = 230.4 cm? = 230 cm?
4. Coefficient of volume expansion of liquid,
nStf_?ad of B Increase in volume of liquid, AV
2Asion of L Original volume of liquid, V x Rise in temperature, AT
t(? allow = 19 % T4 Increase in volume qf liquid, AV
> s left, : 2 Lx(40 - 0)°C
- . Increase in volume of liquid, AV=12 x 10~ x 2 x 40
form of =960 x 10* L
ange in =96 x 102 x 10° mL
'es and (v 1L = mL)

=96 mL
I 1. ¢) 2.(c) 3.(b) 4.(d) 5.(d)

THINK ZONE

® This is because metals expand more than glass on heating to

ame rise in temperature._ - «
L 'il‘-lllee T)alloon is filled with air which is a mixture of_ gases. Wg know
hat gases expand on heating and contract on coohn_g. That is why,
; f{':1 lig inflated balloon shrinks when immersed. in ice-cold waatli:ler(':i
ia-ll'uhy uality measuring tapes are prepared_usmg an alloy calle
’ ‘I . ;'?because it expands very less on heating and the accuracy
nva _
i maintained. -
: r(}‘fh';allzl;h of the pendulum increases due to thermal t:;g:lélsgze
| 2 it time to com
i summer,. hence, it takes more g
dunllllsiion. As a result, the clock goes slower. On the
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he length of pendulum decreases qy,, to

hand, th : inter. henee, it takes loag ¢ - Lhe,
qon during winter, ¢ =8 time ¢, m,
expansion he clock goes f D en A
ion. As a result, the clock goes fastor, Pley
» "

one oscillat

CHAPTER 7. Sound

Check Point 1
1. longitudinal

2. hertz
3. fastest; slowest

Check Point 2

1. more
2. frequency of vibration

3. reduced
4. Increases

Check Point 3
1. (a) decreasing (b) tension
2. (a) The unit of loudness is decibel (dB).
(b) Yes, the loudness of a sound depends on sensitivity of 5

listener’s ear.

TEST YOURSELF

A. 1. vacuum 2. pitch 3. increases 4. more 5.60 6. prongs; stem
7. increased 8. 100 dB

B. 1. frequency 2. Loudness 3. Pitch 4. Amplitude

. C. 1. Ampl_itude: The rpz?ximum displacement of a vibrating particle
from its mean position on either side is called amplitude.

2. Wavelength: The distance between two consecutive compressions
or two consecutive rarefactions is called the wavelength. It is

donated by A (lambda),

longitudinal waveg,

4. Pitch: The ch o . _ _
i ca“edbpitc}la.lracterlstlc of sound which determme‘s its shrillness

5. Monqtone: A.sound of a single frequency is calleq monotone.
A tuning fork is used to produce monotone,

6. Loudness: The degree of sensation produceq i .
. n t
sound is called its loudness. he ear by a
108
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Low pitch

th ) -
Om;l e Kl ('slm"lt’) smm‘d' 1. A hoarse (flat) soung =
“te 2 having high 'ﬁlcqu'{l‘l-;(‘}-i having low frequency ig
iq called a high-pitche called a low-pitched sound.,
sollndo
5 A female has high-pitched | 2. A male has low-pitched
L’ﬂd,r sound.
2. r”— Pitch _ Loudness

= & . .

1. Pitch is the chlaracterlstlc 1. Loudness of sound is
of a sound which the degree of sensation
determines its shrillness. produced by it in the ear,

9 Pitgh of a sound depends 2. Loudness of a sound mainly
on 1ts frequen(?y. A? the depends on its amplitude.
frequency of vibration A sound of small amplitude
Increases, the pitch of 1s a soft sound but a sound
sound also increases. of large amplitude is a loud

sound.
. 3. Soft sound
1ty of g Emotise :

A sound with greater A sound with smaller amplitude

amplitude of vibration is called| of vibration is called a soft sound.

a loud sound.

S!S . o ; .
tem , E. 1. The nature of sound wave in air is longitudinal.
| 2. The frequéncy of sound produced by a string instrument depends
upon the length, material, thickness and tightness of the
article string. _

3. The number of vibrations completed per unit time by the
ssions sound wave is called its frequency. The SI unit of frequency 1s
Tt is hertz

4. The characteristic which determines the shrillness of sound 1is
n of called the pitch of a sound. The pitch of a sound depends on 1ts

are frequency of vibration.

5.
1ess
6.
ne.
T
7 a .'

The pitch
increased b

A f
t Ssmall frequency g
3 [ =
(&)
g —>Tme £
£ ¥ =
2 £
h7} ' 2
= Low-pitched sound |
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of a sound produced by a wind
y decreasing the length of its air column.

a wind instrument can be

High frequency

High-pitched sound
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f sound produced by a female is more thar, l
=il

. ¥ VIO Yk - b F4
female’s voice Appeargy l'll”t-r‘t.l’llT of i

. N, TR
7. The pitch ¢ Fr
F Due to this reason,
male ! ‘,
! nle's voice | | y
o f n cound depends on following factory:
t'l!r‘-.t-‘ (3] | |  f o
8. lL.on | . depends on the amplitude of "lll‘.lln,“
ness
(n) Lo .
_,rjllnr] A t
. Ir

: T3 ] S alal [}”. SO e v
s chiatance hetwes n | ooof .
Y nndp-: on the «
(h) It e Al

the Listener, . L |
) It depends on the surface area of vibrating object
(c ae :
9. .
! 7]
g » Time E 0y A T, TR __‘___s r_IFHq
£ —t— a3 ALl
21T o
< B
g 5
3 Loud sound o Soft sound

A sound of a single frequency is called a monotone, A Monot oy,

can be produced by using a tuning fork.
The unit of loudness is decibel. The loudness correspondip,
of a normal person) is taken

to energy level 10772 W/m? (i.e..
as the reference level which is called 0 dB. If energy level i
10" W/m?, loudness is taken to be 10 dB and if energy level i

107" W/m2, loudness is taken to be 20 dB.

12. (a) Pitch (b) Loudness
F. 1. False; The SI unit of frequency is hertz.
2. True
3. True
4. False; The pitch of a sound depends on fy
9. True
6. True
7. False; The SI unit of loudness is decibel.
8. True
G. 1.—(c) 2.—(e) 3.—(a) 4.—(b) 9.—(d)
oduces a louder sound than g small drum becayse

its surface area of vibration is more.

2 thfn one shouts, he uges more energy and amplitude of vibration
of his vocal cords is more. As g result, loud sound is produced.

3. Shrillness of a soung depends on pitch. Higher is the pitch,
shriller is the soung produced. A cuckoo has high-pitched
voice and a crow has low-pitched voice. As g l'osult,ba cuckoo's

as compared to crow's Voice,

10.

€quency of vibration,

high-pitched voice ig shriller

4. As the loudness of sound depends on the distance between the
. ‘ y 1@ W Tl o Tno ’ ¥ I

source of sound and the listener, it decreases w hen the listener

moves away from the source of sound.
110
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Onot()ne
)Onding
H taken

evel jg
evel is

tion.

1se

= A

w oQ,

T

- decreases on fi]l;
noth of aIr column S on filling the bucket -
_The le n{-‘;h of air column decreases, the pitch of sound i i
5. oleng le t s the filli i o
<. we are able to guess the filling of bucket by hearing the
Tht *\ produced by water falling in bucket. ) e

qolln .
® jler the length of air column of a flute, hj

gma also higher is the pitch. A number

gher is its frequency
of holes are made

;lloﬂg the length of a flute to produce sounds of different
frequencies.
By, Time period of vibration, T = -\1’,—
1
= m =0.0025 s
9. Here, speed of sound, v = Frequency, v X Wavelength, 2
=660 x 0.5
=330 m/s
3. Given, amplitude of first wave of vibration 256 Hz =

Likewise, amplitude of second wave of vibration 288 Hz = x

Loudness of wave 1 X
Thus, = —
Loudness of wave 2 «x

=1:1 (. Loudness mainly depends on amplitude)
4, Since loudness depends on amplitude of frequency, hence, higher
the amplitude, louder is the sound.
Here, sound of lower amplitude = x

and sound of higher amplitude = 2x
Thus. the sound having the larger amplitude (2x) is louder.

J.1.(© 2.(b) 3.0 4@ 50 60

THINK ZONE

® The voice of a perso
him. So we can easl

only. s the most important characteristic of a wave

¢ Frequen(;);tcl:h of a sound wave depends on frequency of its
because

yibration.

he spee
: ?{esa.i;r That 1s why spectators see t
in \

hearing its sound.

son depends on the pitch of sound prodx.lced _by
ly recognise our friend by hearing his voice

1 f sound
1 much more than the speed 0
e he stroke a bit earlier than
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-l
Check Point 1 B ‘, . =
2, p;,-:-_r,?;;sf difference 5. =W . ke =
-t‘*\l.“"““‘
) T f ".1.

1. ohm
(J‘hf.(_-k l’l’}iﬂt 2

1. live

2. safety device

3. parallel - n ¥
ﬂ“[:::

4. severe shock

Check Point 3
1. (a) repel; attract (b) Repulsion () nega
2. (a) The process of charging an un ~harged conductor by bringing
it in electrical contact with a '.';';Er:-_-_’é,—’i body 1S .‘_:,::.-_.:i ‘"':.‘i“.—: c
by conduction. e -
(b) Positive charge. —--:‘"'{
Check Point 4 )
(h) diverge (c) lightning
- "
T

1. (a) electroscope
2. (a) A simple gold leaf electroscope.

(b) The electric charge present and
atmospheric electricity.

TEST YOURSELF

A. 1. battery 2. live 3. parallel

stored in clouds 1

7.
11.

B. 1.

5.

200°C 8. Static 9. Copper 10. Attracts
Conduction; induction
2. Electric meter 3. Switch 4. MCB

Electric cell
Electric circuit 6. Static electricity

7. Charging by induction

4. exceeds 5. kW h 6. live

8. Lightning
C. 1. Electric power:
in the given electric ci
of electric power is watt.
The commercial unit of electricity (kW h): One kilowatt
hour is the unit of electricity consumed in the circuit when
1 kilowatt of power 18 used for 1 hour.
1 kWh=36x10"4J
y: Frictional electricity is produced due to
charges between two objects when

The rate at which electrical energy 1s dissipated
reuit is called electric power. The SI unit

Frictional electricit
transfer of equal and opposite

they are rubbed together.

3.
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nging
'-l'ging

led

al

"ane
7. Lig
when !
~ lightning.

I

2. Live wire is also called phase
wire which is maintained at

0
pe destroy

cons
Jectroscope€: A device used to detect char
ge on a body is call
ed

ctriC

ctor
is cn]](‘d e
ril‘lcipﬂ
fc]‘large

lectric induction,

erved.

Jectroscope.

induction: The process of charging
py bringing 2 charged body near it {:ut:n unch
7 not to

arged
uch’m;_r,

1wservati .
1of c‘mthmtw:t‘mnl of charge: Principle of ‘
states that electric charge can neither b mservation
ed and so the sum total of charges alwe created nor
ays rem

ains

htning: A huge electric spark taki
: " mng 1a
n th? moisture content in the clouds Et)nec?)en?f::ﬁfg‘;h? Cloﬁds
1s called

T ILive wire

Neutral wire

1. It is the wire in household
electric circuit which carries
current from mains supply

to various appliances.

. It is the wire in household

electric circuit meant for
return path for current from
the house to mains supply.

220 V.

. It is maintained at 0 V.

_Electrical energy

The rate at which electrical
energy is dissipated in the
given electric circuit is called

electric power.

_ The energy consumed in an|

electric circuit shown by the
p'roduct of voltage, current and
time of current flow is called

Is

2.

The SI unit of electric power

is .watt.

_ The SI unit of electrical

electrical energy.

energy is joule.

i e

J

ml

The charged P
in actual conta

| tobe chart®d
tually transferred

Charge182¢
conduct1o

pbody to the un

n from charge

: duced on the body

charged is of same
s the charge on the

nature 2

charged body.
113

el

ody 18 brought
ot of the body

charged body-

. The charged body is brought

9. There 18 no actual transfer of

3. Charge prod

close to the body tobe charged
but never in contact with it.

charge from the charged body
but charge 18 induced on the

uncharged body.
uced on the body

being charged 1s opposite to
the nature of charge on the
charged body-
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_ n a glass rod whe
- [yt with silk fibre

1. When o glass rod as rubbed | 1. Whep “hanjy, \r{?«.
with a <ilk cloth, some rubbed wigy, Wag), ° i
electronsare transferred from l'ff’f'frrum:lrr'H‘I!Fhf'f’rr- ol f”r”
the glass rod to the silk eloth. wool to the t},;””f'. rod I |

2. Silk becomes negatively | 2. I':'I‘“I]-if(- rod I.ur,‘;'“'w
- charged due to having an N"Lf_““‘"‘f\' charga Iu..”;‘
excess of eleetrons. On having an exXcess of q), Ctre .r‘
the other hand. glass rod On the other hand, . ""':I'
becomes positively charged becomes POsitively '-‘h'drfr.,:;'
due to having d{.ﬁ[‘jvnc-_\- of due to h:u'ing a dt_‘ﬁ(_\i‘_,;;_\_
electrons, of electrons, "

E. 1. The rate of flow of electric charge in an ele
electric current. The unit of electric currer

2. No, electric current cannot flow through
does not conduct electricity,

3. Electrical energy, £ = Voltage,
VxIx¢
=IR x [ x¢
= PRt

4. The rate at which electrical energy is dissipated ip the given
circuit is called electric power.

As per definition, if E

ctric cireujt 1s calleq
1t 1s aMmpere,

an insulator because it

V x Current, J x Time, ¢

I

(v V=g

energy is being dissipated in

i ! a circuit
during the time ¢, then
Electric power, P = M
Time, ¢
_ VIt
ke p (- E= VIt)
. =VI
So, electric pPower, P = Voltage, V x Current. J
5. The commercj

al unit of electrica
hour is the electrie,

Is used for ] hour,

| energy is kW ph

1 - One kilowatt
al energy fonsumed whep, 1 kil

owatt of power
Electrica] €nergy consumed ip kW h,

_ P(in watts) X ¢ (in hours)

- 1000

V(in volts) x 7 (in ampe

K

res) X¢ (in hours)
1000 s -
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1. | Charge on a glnss rod whe

e

i

d with ulllt__ﬂh_"_'_'__ SR ; »
rubbed with. . When an N\‘

W] rodd s rubhbed
I~I|I|'Io'(l w !f}] .‘.’(”‘I

1. When a glass |
with a s=ilk cloth, some

clectrons are transferred from
the glass rod to the silk eloth.

eled HrOns are tran of,,, o,
o ¢
Ll o

wool to the "}"'HIT-» Pod
1

bee,

2. l':}llll'lll'" rocd
. M
negatively .f-h.-ur{:a-rf dy ]

= Ie
having an eXCosg ”r"l"frrr.r

. Silk becomes negatively
charged due to having an

excess of electrons. On

the other hand. glass rod On the other hand. the '.t,r.«‘l
becomes positively charged becomes Positive]y Charge,

due to having deficiency of due to h?l“lng a rl:'ﬁf_‘i,_,nr,: '|
electrons, of electrons. |

E. 1. The rate of flow of electric charge in an electric cireuit jg calleg
electric current. The unit of electric current 1s ampere.
2. No. electric current cannot flow through an insulator because it
does not conduct electricity:,
3. Electrical energy, £ = Voltage, V x Current, J x Time, ¢
= VI g
=IR x I x¢ ey V=1p
= Rt
4. The rate at which electrical energy is dissipated In the given
circuit is called electric power.
As per definition, if g energy is being dissipated In a circuit
during the time ¢, then

: Energy.
Electric power, P = __’l_e_’}“}__fj
Time, ¢

VIt
£
. = VI
So, electric power, p = Voltage, v x Current, J
9. The commerecia] unit of electyjcg] energy is kW . One kilowatt

hour is the electrical €Nergy consumeq when 1 kilowatt of power
Is used for 1 hoyp.

Electrical energy consumed in kW h,

(- E=vp

P (in watts) x¢ (in hours)
. 1000
V(in volts) x 1 (in amperes) X ¢ (ip hours)
B 1000
114
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a glass rod whe Charge on 4n -
1. [rh:”m with silk fibre | when rubbeg ‘:Rh:,“
3 horiie wleas vodis {. Whist an 2™ ooy

When a glass roed 15 rubbed | 1. WH y "‘T“h.,_“.‘.:i
with a <ilk th SOmé rubl N w.o ' .

f liwtronsarvtransforre«d from electron s

| the plass rewd to the =]k th | — ——

| 2. Silk becomes negativelv | 2. Ebonite ,_Hﬁ“"“‘ﬁm

j charged due to having an | negatively chargeyq o

['I excess of electrons. On | having an OXCERS b g "'.

| the other hand. glass rod | On the other nd, the o
becomes positively charged | becomes positis e,
due to having deficiency of | due to having 3 F;: !
‘,J,-J_.tr”n;__ il 'I":I"’_"‘-. OClen~.

- 1. The rate of flow of electric charge in an electric circuit js
electric current. The unit of electric current s ampere.

.-
CcallaAd

2. No. electrie current cannot flow through an 1insulator becaysea :.
does not conduct electricity., =

3. Electrical energy, E = Voltage, V x Current, J x Time, ¢
=Vx[Ix¢
= IR x [ x ¢ (- V=1p
= IRt
4. Thf rate at which electrica] énergy is dissipated ip the given
circuit 1s called electrie power, o
As per deﬁqition. if £ energy is being dissipated in a circuit
during the time t, then L

Electric power, p = J—E_n_efé'l__E_
Time. ¢
VIt
F3 (" E=VR
" =VI
. y electric power, p = Voltage, | x Current. J
2. The commercial un;t of electrica] energy is kW b o i
= ne

.hr)ur 1s the electrical €nergy consumeq when 1 k'l- ;
1s used for 1 hour, e

Electrical energy consumed in kW h,
P = P (in watts) x¢ (in hours)
1000
_ V(in volts) x J (in amperes) x ¢ (in hours)
1000 G2 P =y
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1000 W h
00 W x 60 X 60 s

whF*=
F' I l‘“ = I” i » f
_agx10°Ws=36x10"J
Colour of insulation
7. Wwire Old \

code New code

o Red T—

Neutral Black Light-blue

Earth Green Yellow

6 A <afety device which limits the current in an electric circuit is

called 2 fuse.
The electric fuse works by melting and breaking the circuit in

case of overloading or short-circuiting.

9. An alloy _of leac_i and tin is used to prepare a fuse wire because it
has melting point of about 200°C. The thick fuse wire has higher

current rating.
10. Different appliances in household electric circuit are connected in

parallel._This is done to make the appliances work independently
so that if one of these appliances gets fused or broken, others

_ work smoothly.
11. Two types of electric charges are positive and negative charges.
12. When an ebonite rod is rubbed with wool or flannel, electrons are
transferred from wool to ebonite rod. The ebonite rod becomes
negatively charged due to having an excess of electrons. On the
other hand, the wool becomes positively charged due to having

deficiency of electrons.
13. Take a glass rod and charge it by rubbing with a silk piece. Suspend

it from a rigid stand using a silk thread. Now, take an ebonite rod.
Rub it with wool to charge it and then bring it near the suspended

glass rod. The glass rod is found to be attracted by the ebonite
charged objects attract each other.

rod. It shows that oppositely
- Z s

b(l:s)lt:c?s\;\:ict)g Glass rod gets
i ilk cloth) attracted towards
” ebonite rod

Ebonite rod A
(rubbed with flannel) W

of electric charge states that electric
ted nor be destroyed and so, the sum

w of conservation
ns conserved.

an neither be crea
harges always remal

115
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ke a glass rod and a piece “r-“'i_lk- “lil.inlly‘ both, .

15. qni(tllll“ total charge present is zero, N“W, Fal ”;. lln‘:h;‘r
it ”““I‘qi”( picce S0 ”"l['.”“. glass roq ;:(?flllir(.“. Blag, o)
w”l.]r. As, in accordance with the principle B ;._,"1
:’I]:::: f:c (‘h.-"l.l‘g(‘. total (Efl;ll:g(’ must l‘c‘nll.':in 2€ro evap Now 4 .mrl:\;“
silk piece must have acquired an (‘.{]’lhl amount of negntiv;: h the

This shows t.hat.whunevcr two objects are ¢h

equal and opposite charges are produced on t

16. A gold leaf electroscope consists
of a metal rod passing through an
insulator plug in a glass case.

; 1 :
of CONggy, PO8I

hem.

The top end of the rod is connected '”2‘;5‘;‘” —X
to a metal disc and two thin gold
leaves are connected at its lower  ©l2sscase-
end. Inside the glass case, a metal Gold leaves
foil surrounds the glass case in the
lower part.

17. Following steps are required to char
the method of induction.
(1) Put the given conductor A on an
insulating stand as shown in Fig. (a).
(ii) Take an ebonite rod and rub it with
wool so that it acquires negative
charge. Bring the ebonite rod
near conductor A but do not touch
it. Equal and opposite charge is
developed on the conductor as.
shown in Fig. (b). : e R

ge a conductor positively by

Ebonite rogd

+
!

T
>
1

9
i

l

KRR

z
-
1
Z
Z
=

(iii) Keeping ebonite rod in its position, o
touch the conductor A with your z
finger so that negative induced %;
charge goes to the earth but ez

&

—
—

positive induced charge remains
Intact as shown in Fig. (c).

(iv) Now, remove

preads on conductor A and it

wn in Fig. (d).

18. Clouds get charged when water and ;
inside them. It is observed that posijt;
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. \U 162 VT 1 Vo
. I en neg tive ¢ h:ll'l..,'(' on ‘}“ttf”" mr
. ‘ art ‘li‘

(oo large, it overcomes the air res
) CR18ta
. i n('(. -l’
‘e and

“Ch,
"‘lt'lq'“‘ﬁ’t-’ n tht 1 e
Sy ( 0 e I - .4 4 i
“%'_r.“[f ihe I‘;nwﬂ'"l" the earth causing hightning,
1 Uy, whi . tor consists of ¢ :
- lon o L nin® conidue ll- s of o thick copper strip,
e, ‘h}r P Al u,qidl of a building having metal spikes W't‘h rip fitted on
2 ¥ v 2 0 3 . ) M e
h"lrg .l 1% (he i‘u‘ top- On the lower side, the copper stri s sharp edpeg
)I"‘hg. at :(-t"’ ylate which is buried deep inside the P IS connected tq
. ﬂh::rﬂ‘»‘d cloud having negative charge at itg } wet so1l. When 4
2 ‘ /& S b . *
otar jbo\"‘ a lightning conductor, positive char "—t(_)m side comes
IS¢ i . . 1 . » L i . g(‘ 15 ) v i
the gplkl.S'Whl.Ch may neutralise negative charge induced on
gnd lightning 15 prevented. Even if lightning t {f: of the cloud
* x < a 3
the llght.nlng conductor provides a safe p;lt}is place, then
rog discharge to flow down to the earth and there i for electric
the building. 1s no damage to

1. False; A kilowatt hour is the unit of electrical e
nergy.

oil
9, True
3, False; An electric s_witch is connected with liv i

e wire.

4. False; One will not get an electri .
electrical appliance. ric shock if one touches an earthed
5. True
6. True

7. True
8. False; When an ebonite rod is rubbed with wool, the electrons

move from wool to ebonite rod.
9. False: Repulsion is the sure test of electrification.

10. True
11. True
12. False; Lightning is caused when the moisture content in the
clouds becomes large. |
—(h) 8.-(b)

) 4.—(f) 5.—(g) 6.—(a) 7.
er of 1000-1500 W when

1 the other hand, a LED
hen operated on 220 V
more power than a

G.1.—-(c) 2.—(e) 3.—(d
H.1. An electric heater consumes a pow
operated on 920 V electric supply. 0
\ bulb consumes a POWer of 1-10 W w
electric supply- As electric heater consumes

" LED bulb, therefore, it draws more ——
cted to the earth to provide safe path to
s avoids the risk

9. Earth wire is conne .
electric charge in case of leakage of charge. Th
ck to the user.
n these three wires,

of electric _ShO

3. To identify an

d distinguish easily betwee
they have insulation of differe

nt colours.
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= PL

t) 1»‘].«“‘“'"-" =~ -9 kW x 2h
llj!' ‘;IHA P = i kW h
.'., ' ,
® e 1:’ = 4 units
rl';h”]ir, ) . i
h‘d ”]'r.fi‘ T]“' (-(;qt (‘Jf 1 llﬂlt - .0
’r to | - i
tor ""rn; The cost of 4 units = Z55x%x4
' P =T 22
8o :
ax
- o 3@ & b 5.1 6.0 7.0 8 ) 9. (a)
S, @ 2 12 @
imy rk / ) 11 (b) .
L’"(} Io’ (C .
. Metal disc
Dhg &1 5. [ﬂ)
:‘;()‘. th(
G633
ve |nsulator
plug
r ic
“a Glass case Brass rod
Gold leaves
Metal foil
(b) Ebonite rod 5
= — =
2 : :
z Z 2
£ g2 Z
— — .yv’ﬁ'/ s -
(a) (c) (d)
+ +
(C) ++++++ ++++ :+:+
+
- © Induced charge
\ on the spikes
" Copper plate puried
deep Inside the soil
4 : 119
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TH INK 7ZONE
e Woollen/p
friction. W
streams hetwi

clothes develop gtatic charge on them dy,
o 71

olyester
SW(-.’II.(-;-_ LII".‘“' {TII:’I‘L"‘(' ]'].’]{,v'.(

hile taking olf our |
on the sweater and our hody, i.c., electric ‘“"‘.‘h:;rl,n
(nkes place. As rosult, we see a spark or hear o crackle e
e No. because conductors cannot be charged in this way as electrgy,,
will pass to our body from the metal rod. )
e Tungsten metal is used exclusively for designing filaments of
clectric bulbs because it has very high melting point and doeg

not melt easily.
@ Yes. superconductors are metals that allow electricity tg
pass through them without any resistance below a certain

temperature.
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SaintJoseph’s Convent School,Moga
Answer key of Chemistry
Class-8 Chapter-8(Water)

SHORT QUESTION ANSWERS
Ans-1

Water is called a universal solvent as it

dissolves a larger number of substances than
\ ARK
any other)

Ans-2
) Solution
I1) Unsaturated Solution

1) Saturated Solution

V74 Edit with WPS Office



Ans-3

A suspension is a heterogeneous mixture of
one or more dispersed phases in a dispersion

medium.

b

n)o
5, i

Muddy water is a common example of a

suspensio@ _.

Ans-4 A colloid is a homogenous

mixture of one or more dispersed phases
in a dispersion medium. Ex-Milk, jam .

Ans-5
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Ans-6

) Water that lathers easily with soap is
called soft water.

I1) Water that does not lather easily with
soap is called hard water.

Ans-7 Calcium Bicarbonate and
Magnesium Bicarbonate cause temporary

%ﬁ*ﬂ Edit with WPS Office
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hardness of water.

Ans-8 Calcium Sulphate, Calcium Chloride,
Magnesium Sulphate and Magnesium
Chloride.

Ans-9 Washing Soda Or Sodium carbonate.

Ans-10 Sodium Hydroxide (NaOH)

%ﬁ* Edit with WPS Office
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LONG QUESTION ANSWERS
Ans-1

[T TeAVALMAM WWLIVIY

Chan 't i '
ceriti Soluton Suspensin Colli

‘ @of Mmittue Homogenen togmenss—— Homogenn
L Setlingofthesolute/  Donotset

‘ ot Dorotse
dispesed aries Wil
r
3, Benaviour towards ight - Trngperen Nttt ot rspaen,

safers gt St o

{, Size of the solute/ (;maﬂerthanlnm Fmormee~ Seween 10’
fipesedpartide. (07 fry u 10*'131)

Ans-2
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Water drops
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Ans-4

 Water that lathers easily with soap is called soft water.
" Water that does not lather easily with soap is called hard water)

It is necessary to soften water because harg
water is unfit for most domestic and industriy|

purposes.
1. Hard water is unfit for laundries as it
(a) consumes too much soap, and

(b) leaves dirty stains of calcium and
magnesium salts of fatty acids on

C]'Oth' -T\.I""*'\\ & By ("\ ; '\

2. Hard water is not very suitable for
bathing. The precipitates of calcium and
magnesium salts of fatty acids, formed on
reaction with soap, cause irritation of the
skin.

3. It 1s not possible to properly cook hard
foodstuff, like pulses, in hard water.

4. Though not injurious to health, hard
water does not have an agreeable taste.
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If the hardness of water is removed, soft water is
produced and the process is called softening of
water.

The following methods are used to soften
water.

5 .
. Boiling ( Temporarily hard water can be
softened by boiling it. When such water is
heated, the hydrogencarbonates of calcium
and magnesium are decomposed to the
carbonates. Being insoluble, the carbonates

precipitate out. T 4 V& o
calcium calcium
hydorgencarbonate carbonate

2. Treating with  washing soda Permanent
hardness of water is removed by treating with
washing soda (Na,CO;.10H,O). A solution
of washing soda is added to the water, and
the carbonates of calcium and magnesium are
precipitated> o eLev Q \i o

CasSO, + Na,COj; — CaCO;! + Na,SO,

calcium sodium calcium sodium sulphate
sulphate carbonate carbonate (in solution)

: - odium chlorigle
calcium sodium calcium = (in solutior)
chloride carbonate carbonate

(CaClz + Na,CO; — CaCO;| + 2NaCl

V/4 Edit with WPS Office



Ans-5

Action of sodium on water

We infer that@odium reacts vigorously
with water to form sodium hydroxide and
liberate hydrogen. At the same time, the
reaction is highly exothermic and so the metal
melts to form a globule.

2Na(s)+2H,0() — 2NaOH(aq)t+ H,(g)

sodium sodium hydroxide hydrogen
e (alkaline)

| T\ (. X \\a l | l

Turns red Burns with
litmus blue a'pop’

The hydrogen burns with a ‘pop". And
yellow sparks are produced bXsmall ; Aticles

of sodium) i s

Edit with WPS Office



The action of calcium on water Y
)I

Calcium is heavier than water and a piece of
the metalsinks init The evolution of hydrogen
starts briskly but slows down soon as the
lime produced forms a coating on the metal)
Calcium hydroxide (slaked lime) is much Jess
soluble than sodium hydroxide Qr potassium
hydroxide an gakes the solution turbid) The
solution 1sta Ine tummg ted litmus bl u}

Ca(s) +2HOH (1) — Ca(OH), (aq) +H, (g)
calcium calcium hydroxide
(alkaline)
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Objective Questions

L\ht‘l‘-"l' thl‘ correct llplil'l!"l.

L Crystallisation is generally done from

{a) an unsaturated solution |(bT"a supersaturated solution

(¢) a suspension (d) a colloid

2. Which of the t'ollowing substances will cause temporary hardness of water?

(@ NaCl Wb Ca(HCO,) (©) MgSO, (d) Na,SO

3. Which of the followi Ing substances will cause
(@) Mg(HCO,),

T MgS0,

permanent hardness of water?
(b) Ca(HCO;),

(d) NaCl
4 ‘.\”lw.ticl-m1 of the following substances can remove the temporary as well as permanent hardness of
Water:
() Baking soda (b) Common salt
_le? Washing soda (d) Rock salt
5. Which of the following is a hygroscopic substance?
(@) Anhydrous calcium sulphate b7 Silica gel
(¢) Hydrochloric acid (d) Blue vitriol

Fill in the blanks.

; ; N
1. A solution that can dissolve more solute is a/an ...... solution. (sat'urated/unsamraled}
¥ i
2. Waterisa...... solvent. (polar/ nonpolar)
-

3. Muddy waterisa..... . {suspe‘hsion/colloid]

91
Water
-

/
4. The white anhydrous salt that becomes green upon addition to water is ...... . (CuSO,/FeSO,)

p v
5. ...... hardness of water can be removed by boiling, (Temporary/Permanent)

Write “T" for true and 'F” for false for the following statements.
Y

1. The polarity of water enhances its solvent property. /[7sce jﬂc
2. Anhydrous copper(II) sulphate is cryqtallme but its pentahydrate isnot:

3. Hard water is suitable for washing clothes. [ lds - [ =
e,
4. The solution left after the reaction of sodium with water is alkahn LY

i ap, e flame.
5. Magnesium burns in steam with yp, orange True
3
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Saint Joseph’s Convent School, Moga

Answer key of Chemistry, Class-8,Chapter-6
(Chemical Reactions),

SHORT QUESTION ANSWER
Ans-1
a) Exothermic Reaction

b) Endothermic Reaction

c) Combination Reaction
d) Decomposition Reaction
e) Displacement Reaction

Ans-2 A reaction in which the positive and
negative radicals of two reactants are
exchanged, leading to the precipitation of a
product, is called a double displacement
reaction.

Ans-3 In neutralisation reaction, an acid
reacts with a base leading to formation of salt

Av74| Edit with WPS Office



and water.

Ans-4 Water, Carbon Monoxide, Nitric Oxide

Ans-5
a) Endothermic Reaction
b) Exothermic Reaction

Ans-6 Our tongue feel cold when we put some
glucose on it because dissolution of glucose in
water (saliva) is an endothermic process. So
heat gets absorbed and you feel cold in your
mouth.

Ans-/
a) Decomposition of lime stone once
started will not continue on its own

b) Rusting once started will continue on
its own

Ans-8



a) Lime water turns milky.

b) Magnesium Oxide and Hydrogen is
formed

c) Hydrogen burns in oxygen to form
water

d) The brown colour of the solution
changes to green, leading to formation of
iron (Il Sulphate)



A9
Q) 2F -3, W 00

)C%"f“w"’”w’ i 24

d) mw,, 2 21
o ket RS
&) Ff,"\' | T (E)AVJ‘f“de

Sulpnat ‘
(a'*v) yllor) (6’“#"‘ bt
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Lon uestion Answers

Ans-1 Examples of exothermic
reactions:

i)Burning:

CH, +20,(g) —=— CO, (g) +2H,0(p)
CNG

ii) The reaction between a basic and
an acidic oxide

CaO(s) + CO,(g) — CaCOs(s)

calcium carbonate
(limestone)

iii) Reaction of an acid with Metal

Edit with WPS Office



Carbonate

CaCO,4(s) +2HCl(aq) —
CaCly(aq) + H,O(l) + CO,(g)

Examples of endothermic
reactions:
1.Combination of Nitrogen with
Oxygen

N3 (8) + O2(8) —soarc —~ 2NO(g)

2. Thermal decomposition of Metal
carbonates

MgCO5(s) —2 MgO(s) + COy(g

\V/4 Edit with WPS Office



3.Photosynthesis
C.Hpp04(aq)+60,() — 6CO,(g) +6H,00)

glucose

Ans-2
Two atoms in a molecule are held

together by a force of attraction
called a chemical bond.

1. For the breaking of bonds of the
reactant molecules so as to set the
atoms free for a new combination
energy is absorbed.

2. For the forming of fresh bonds
between the new partners so that it
the product molecules are formed
energy is given out.

When the energy given out in
the formation of the bonds is more
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than that used for the the breaking
of the bonds is more than that it
used for the the breaking of the
bonds the surplus energy is evolved
and the process is exothermic.

However when the energy
required for the the breaking of the
bonds is greater than that given out
in the formation of of the bonds then
the process will be endothermic.

Ans-3 Electrolysis is a process in
which a substance is a decomposed
or broken down into simpler
substances, by passing an electric
current through it .

Padi



Take some water, mixed with a few drops
of dilute sulphuric acid, in a beaker. Invert -
two test tubes full of water into it. Remove the
insulation from the ends of two thick wires.
Introduce them into the test tubes as shown
in Figure ~ . Connect the wires to a battery
and pass current for some time. Qases start
collecting in the test tubes. You will observe
that the volume of the gas collected over the
negative olectrode is twice that of the gas

collected over the positive electrode.

Stop passing current when there is
enough gas in the test tubes. Cork the
test tubes. Inside the water and take
them out. The gas collected at the
negative electrode is hydrogen and the
gas collected at the electrode is Oxygen.
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electrolysis
H,0 ~— JH, + O,
~ water hydrogen oxygen
(negative (positive
electrode) electrode)

il
-
\%LV

/

S
z ; Water
= i L 4

£ . acid

The electrolysis of water
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Ans-4

WS

Double Displacement Reactions

[na double displacement reaction, the positive

T ———

and negative radicals of two_reactants are

———
— ———— e aa—

exchanged, leading to the precipitation of a

product.

(The t:eaction between silver nitrate ;:md sodium
chlonde>

(When an aqueous solution of silver nitrate is
mixed with that of sodium chloride, a white
precipitate of silver chloride is formed. The
sodium nitrate formed remains in solution.

AgNO,(aq) + NaCl(aq) —
silver nilrate sodium chloride
(colourless) (colourless)

AgCL(s)), + NaNo3(aq)J

silver chloride sodium nitrate
(whiteg (colourless)

(fopt
Ag'  Na
Bt
NO; Cl

(exchange of radicals)
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_The reaction between barium chloride and sodium
sulphate’,
A /

When a solution of barium chloride is
mixed with that of sodium sulphate, a white
precipitate of barium sulphate is formed along
with a solution of sodium chlorid_@

The solution initially appears white
but gradually becomes colourless as the
precipitate settles down.

(/ BaCl,(aq) + Na,SO,(aq) —

barium chloride sodium sulphate
solution solution
(colour leSS) (CO]OUI]QSS)

barium sulphate sodium chloride
solution
(colourless)

BaSO,(s)) + 2NaCl (aq)>

precipitate
(white)

Ans-5

Qxla neutralisation reaction, an acid reacts with a

base, forming a salt and water){x &, | M)
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MTake about 5 mL of dilute sodium hydroxide
in a conical flask and dilute it with a test tube of watr.
Swirl the flask to ensure thorough mixing. Add a drop of
phenolphthalein solution to it. The contents of the flask
turn pink. (Phenolphthalein is an indicator which turns
red in a basic solution and colourless in a neutral or

g ..—-.._....—-—- e e e e P At

a0|d|c solution.) Add dilute hydrochlorlc acid dropWIse’

with the help of a long dropper and swirl the contents
after each addition. Add the acid till the pink colour just
vanishes. The solution in the flask is neutral—neither
acidic nor basic—and the reaction is neutrallsatlon)

Dilute NaOH
+

phenolphthalein

Neutral

E solution
Fig. 6.9 Neutralisation
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Ans-6
W

he oxides of nonmetals in general are acidic.

—_“'—--__.._________ i 337

Reaction wuth water They dissolve in water to
form ac1ds,, which neutralise bases to form
salts and water

/CO,(g) + HyO(l) — H,CO, (aq)
\ carbonic acid

SO,(g) + H,O(l) — H,S0,(aq)

sulphurous acid

Reactlon with bases They directly react with
baqeq to form salt«

?'\

CO,(g) + Na,O(s) — Nasz (s)>

sodium carbonat

SO, (g) +2KOH (s) — K,S05(s) + H,O(l)
potassium
sulphite
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Basic oxides
[

|

L{The oxides of metals are generally basic and
eact with acids to form salts and water. They

also react with acidic oxides to form salts,
M
\a,0(5)+H,50, (ag) — Nay SO, (ag) + HZO(ID

f,

MgO(s) + 2HCl(aq) — MgCl,(aq) + H,O(]
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Ans-/

Amphoteric oxides Ao

\ An amphoteric oxide is one which be haves

hko a base in the presence of an acid and [jk
an aud in the presence of a base

tfhese are metal oxides like Al,O, Zn0
and PbO.’

f

An amphoteric oxide reacts with an acid as
well as with a base, forming a salt and water.

==y
(Ease + acid - salt + water

Zn0(s) + H,50,(aq) — ZnSO,(aq) + H,0 (1)>

zinc sulphate

LBase + acid - salt + water |
2NaOH (ag) + ZnO(s) — Nay ZnO, (ag) + HO0) "\ 1

sodium zincate
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bl Resetim

4. Discwss dlotlbile displacement roactions with W ewannpibes
5 Discuss newtralisation reactions witly a o tivity boshow how sk o messcticn 15 carnied ont
b What arc avidic and basic oxides? Clive wxampdes wilh e o,

7. Write a nete oncamphoteric oxides.

€ s s correch aphion,
1, I which of the following reactions will beat be evelved?
[} The formiation of NO in lightning
(1) The fermation of HI from hydrogen and iodine
{¢) The decomposition of limestone

et The slaking of lime
2. In which of the following resctions will light be absorbed?
et Thotosynthesis (b) Resspiration

(¢} The burning of sulphur {d) The burning of maggnesium

3. Which of the following equations represents a displacement reaction?
(b} Ny + 3, - 2NH,

(€] 2HL0 == 2H, + O, AT Mg ¢ 1,0 = Mgl 4,

1. Which of the following equations represents a double decomposition reaction?
(b} 2NaNO), — INaNC), +(),

(d) 2H, + 0, ~ 2H,0

(0) 2Hy + 0y = 2H,0

(@) Hy + €Ly — 2HC
U AENO, + NaCl — AgCl+ NaNO,

e colymns A and B

A B
i) NyO 3 (a) Anhydride of sulphurous acid
(il) N0y & (b) Anhydride of sulphuric acid
i) 50 | (c) A neutral oxide
[iv) 50, 2 (d) Anhydride of nitric acid

FIL i the hlanks

1. When ignited in air, magnesium burns with a dazzling ...... flame, IW]‘TiGNhWJ

LA . of iron and sulphur caontains grey and yellow particles. (mixture/compound)

3 Trem(11) sulphide shows only one kind of partides that are _..... in colour. lgtl{blwl‘?‘!'&nw]

4 The volume ratio of the hydrogen and oxygen obtained from water is . (1:2/2:1)

5. On being heated, baking soda undergoes ..... to give sodium carbonate, water vapour and carbon
dioxide. tdluampﬁﬁﬁiun /double decomposition)

i Fasential ICSE Chemistry for Class 8

6. A ... precipitate is formed when an aqueous solution of silver nitrate is mixed with that of sodium

chloride. (wHTte /red)
7. Phenolphthalein gives a ... colour in an alkali. (ydlow/n.‘fd/)

8. A soluble basic oxide turns a moistened (). litmus paper £2) . (bﬁe/ r? )

Write "1 for true and “F for false (or the following statements.

1. Coal gives heat when burnt, T

2. Rusling is an endothermic process. Fafas . L-MJ
On being strongly heated, potassium chlorate gives potassium chloride and oxygen. Trud

3.
The clectrolysis of water involves a combination reaction. Fafae . [: Wﬂémj

4.

5. An exchange of radicals between two reactants takes place in a double decomposition reaction. Tpul
6. Limewater can be neutralised by an acid. [Jaece

7. Neutralisation is an endothermic process. Fgfao [3%.9:7

: (]
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9. Cretinism 3. Pituitary gland 4. Adrenaline F

B. 1. Hormones
5. Adolescence 6. Estrogen | | |

without ducts that pour their secretion dll‘ectly Y .

Jled endocrine glands. 8

9. Hormones are also called chemical messenger because they e 4

. about chemical coordination by circulating throughout the b

: 4 . . -
and influencing the functioning of their target organs,

3 The hormones which control the activities of other endocrip,
glands are called tropic hormones. They are secreted by pituitary

C. 1. Glands
blood are Cé

Ody

gland.

4. Stress is a state of mental or emotional strain and is the feeling
of being under pressure. It causes the release of certain hormones
which make heart to beat faster, breathe faster and provide burst
of energy to react.

5. Puberty is the period during adolescence when a boy or girl
becomes sexually mature and capable of reproduction.

6. Adolescence is the period of growth and physical differentiation in
boys and girls. It begins around the age of 11-12 years and lasts
up to 18-19 years of age.

D. 1. The glands which pour their secretions directly into the blood
are called endocrine glands, whereas the glands which pour
their secretions into some cavity through their ducts are called
exocrine glands.

2. Hyposecretion of thyroxine in childhood causes cretinism
and in adults, causes myxoedema and simple goitre. On the
other hand, hypersecretion of thyroxine causes increase
metabolism, faster heartbeat, increased pulse rate, restlessness:
nervousness and bulging eyes.

3. The coordination of the functioning of body o
of hormones secreted by endocrine glands is ¢
coordination. On the other hand, coordination by
nerve impulses is called neural coordinatim_l. dy becavse | H

E. 1. False; Pituitary gland is called master gland of the POV "o che L

it controls functioning of all other endocrine glan

body. d
2. False; Hormone thyroxine is secreted by thyroid glan®
3. True
4, True

8. True -
6. False; Emotional stability is attained during adult

rgans by mean
alled chem!
means of
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5. Myelin sheath 1s a spirally-coiled insulating sheath
substance formed by the Schwann cells around the axq

6. A sudden and quick response to a stimulus without think

called reflex action.

Of fatty
n,

ng ig

i 1. Itis the largest and the most
highly developed part of the
brain.

rebellum ]

. It is much smaller than.

cerebrum and is called little
brain.

2. It is the seat of intelligence,
memory, thinking, learning,
instincts, feelings, ete.

. It coordinates voluntary

e —

movements and balance of
the body during walking,
swimming, jumping, ete.

1. Gray matter is grayish in
colour. :

. White matter is glistening

white in colour.

2. Gray matter forms the outer

~ layer of brain and is centrally

- located in H-shaped region
in spinal cord.

. White matter forms the

" cord.

mner layer of brain and the
peripheral layer in spinal

- 3. Gray matter is mainly formed
of cell bodies of neurons.-

. White matter is formed of
axons which join to form

nerves.

1. Sensory nerves are formed
of sensory nerve fibres. -

motor nerve fibres.

2. Sensory nerve brings sensory
impulses or stimuli from
sense organs or receptors to
the brain and spinal cord.

. Motor nerves carry impulses

from brain and spinal cord

to the effector organ.

Volunigary action is a res'pnse
to a stimulus under the control
cerebrum.

Reflex action is a sudden alzlllgl
quick response to a stimu
without thinking.

breathing, etc.

ollowing are the three functions of brain: &
: (a) Braln controls reasgning, thlnklng, learning, memo]{'lSlngs

%QQ 0‘1{%

(b) It is responsible for sensory perception of sight, hearing
taste, smell, pain, pressure, etc.

(¢) It coordinates the voluntary movements of the body-
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0): App Development

ﬂExerolees

Tick [v'] the correct answer.

1
4,

b. 2
a. 5 ¢

Write ‘T’ for True and ‘F’ for False statements.

1.
4.

¥ & F
T S F

Fill in the blanks.

L
4,

Mobile web app 2. Social Networking . Recent
Unknown Sources 5. Viewer . Test

Write the uses of the following.

10

Business Apps: Business apps are also knwon as productivity apps.
These apps are capable of performing many complex tasks on the
run are developed to help us be more productive. For example,
Google Calendars, Translators, To-do-list

Travel Apps: Travel apps are used to make our traveling easier, more
comfortable, fun and informative. We can book our flights, hotels,
trains, taxis, in fact all modes of transport with the use of a Travel
App. These apps also help us find unknown locations.
Communication Apps: Communication apps enable us to impart or
interchange thoughts, opinions, or information by speech, writing, or
signs. For example: WhatsApp and Skype.

Educational Apps: Educational apps are making things easier for
children to understand and make children more interactive. These
apps are useful for teachers as well—organizing a teaching process,
better educating themselves, etc.

Differentiate between the following.

: 1

Android: It is an operating system for mobile computing devices
developed by Google. It is widely used on smartphones and tablet
computers.




i0S: It is an operating system developed and supported by Apple and
is used only on their own iPhones and iPads.

Native App: These are developed for a particular platform or device.
Apps built for systems like iOS, Android, Windows phone, Blackberry
cannot be used on a platform other than their own. These apps
have access to various devices of a phone, such as its camera,
microphone, compass and address book.

Web App: These are actually websites that provide a user with
experience similar to native apps. Web apps are not deployed to an
app store; rather, they are deployed to a web server and users
access them in a web browser from any device, whenever there is
an Internet connection.

F. Answer in 1-2 sentences.

1,

An app, sometimes called application software, consists of programs
designed to make users more productive and/or assist them with
personal tasks. It can run on our mobile phone, computer, Internet
or any other electronic device.

Apps are divided into the following three main types.

i. Native App iil. Web App ili. Hybrid App

Main parts of Blocks Editor are: Built-in Blocks, Components Blocks,
Block Viewer, Trash and Bagpack.

Apple's App Store is a popular app store which contain many app
categories as well as subcategories for different purposes.

G. Answer Briefly.

&,

Hybrid apps are the combination of both native and web app
elements. These apps are cross-platform, meaning the same code
can run on many mobile platforms. This approach often saves
development time and costs, but may not provide a consistent user
experience or fast performance on all devices.

Web Apps are actually websites that provide a user with experience
similar to native apps. Web apps are not deployed to an app store;
rather, they are deployed to a web server and users access them in
a web browser from any device, whenever there is an Internet
connection.




Blocks Editor is used to instruct the components what to do and
when to do it.

Main parts of Blocks Editor are: Built-in Blocks, Components Blocks,
Block Viewer, Trash and Bagpack.

App Inventor is an open-source web application originally provided
by Google, and now maintained by the Massachusetts Institute of
Technology (MIT). It lets us develop apps or applications for Android
phones using a web browser. It is very easy and user friendly.

H. Application Based Question.

Saanvi should run the app on a connected Android device or emulator.




0» Python - Introduction

ﬁExerolaes

Tick [v'] the correct answer.

) 2
4.

a. 2 G
a. S. b

Write ‘T’ for True and ‘F’ for False statements.

1.
4.

T 2 T
T 5. F

Fill in the blanks.

L

Interactive 2. ldentation 3 Keywords

2', Literals 5 Sequence

Define the following.

1.

Programming Language: A programming language is a set of words,
symbols and codes that are used to write a computer program.
Character Set: Character set is a set of valid characters that a
language can recognize.

Token: A token is the smallest element of a program that is
meaningful to the interpreter.

Operator: Operators are the special symbols that carry out
arithmetic and logical computations.

Interpreter: Interpreter is a language processer which executes the
code line by line at a time.

Differentiate between the following.

1.

Interactive mode: This mode is best for small programs and for the
beginners. But we can't save the commands in it for future use.
Script mode: It is used as python shell for saving a program, you
need to open and write,

Relational Operators: These operators are used to compare the
values, also known as comparison operator.

Assignment Operators: These operators are used to assign value to
the variables.




Simple Statement: A simple statement lies entirely within a logical
line. Python recommends one statement per line and makes
programs more readable.

Compound Statement: A compound statement contains one or more
statements and controls their execution. A compound statement has
one or more clauses, aligned at the same indentation.

Syntax Errors: Syntax error will occur when these rules and
regulations of computer language are violated.

Logical Errors: These errors are also known as semantic errors. They
cause the program to behave incorrectly, but they do not usually
crash the program.

F. Answer in 1-2 sentences.

Python was founded by Guido Van Rossum in early 1990's,

Data types are used to define the type of value a data can contain.
Data values in Python are known as objects

Input function is built in function used for defining standard input
operations in python.

Syntax: input ([prompt])

Print function is built in function used for defining standard output
operations in python.

Syntax: print (expression/constant/variable)

G. Answer Briefly.

L

The features of Python are:

i. Python is easy to use and learn.

ii. Python is an open source language and available free,

iii. Python can run equally on different platforms such as Windows,
Linux, Unix and Macintosh etc. So it is a portable language.
Python can be used for Graphical User Interface (GUI)
Programming.

Operator precedence determines the order in which expressions are

evaluated, so you can predict the outcome of an expression. It can

also determine the overall value of the expression. For example, take

the following expression: a = 8 + 6/2. Depending on whether the 8 +

6 expression or the 6/2 expression is evaluated first, the value can

end up being 7 or 11. Python follows operator precedence rules for




solving the expression

Python has built-in data types such as numbers, strings, tuples, lists,
dictionaries, and sets. You can also create user-defined types, known
as classes,

Data Types are of two types:

Numbers: The built-in numeric types in Python include integers
numbers, floating-point numbers, and complex numbers.

Sequence: A sequence is an ordered collection of items, indexed by
positive integers. Three types of sequence data type available in
Python are Strings, Lists & Tuples.

Variables are used to store data in the memory. The data can be
numbers, text, and objects. The data is given a name, so that it can
be re-called whenever it is needed. Python program needs that data
stored in the memory to do its job.

For example, to create a variable named rose, we use an equal to
sign (=) and then tell Python what information the variable should
be the label for.

>>> rose = 100

Syntax Errors: Syntax error will occur when these rules and
regulations of computer language are violated.

Logical Errors: These errors are also known as semantic errors. They
cause the program to behave incorrectly, but they do not usually
crash the program.

H. Application Based Question.

To convert the string into a number Riya should use int () float ()
function.




@» Python - Control Structures

Tick [v'] the correct answer,

1. a. 2. €&

4, b. 5. a.

Write ‘T’ for True and ‘F’ for False statements.
3 °T 2. F

4. T 5. F

Fill in the blanks.

1. Curly braces 2. Multipath . Nesting
4. |terates 5. While . Continue

Define the following.

1. Conditional Branching: When the branching is based on a particular
condition, it is known as conditional branching.

Unconditional Branching: If branching takes place without any
decision, it is known as unconditional branching.

Differentiate between the following.

1. For Loop: The for loop is used to repeat a block of statements until
there is no items in Object (String, List, Tuple or any other object) in
Python.

Syntax: for variable in Object:

While Loop: The while Loop in python is used to repeat a block of
statements for given number of times, until the given condition is
False.

Syntax: while test_expression:

Break Statement: Break can be used to unconditionally jump out of
the loop. It terminates the execution of the loop. Syntax: break
Continue statement: It is used to tell Python to skip the rest of the
statements of the current loop block and to move to next iteration
of the loop. Syntax: continue

A\ 34 »




F. Answer in 1-2 sentences.

1

Control structures are used to control or change the flow of
execution of the program.

When a program breaks the sequential flow and jumps to another
part of the code, it is called branching.

When multipath decisions are involved, we can put ifs together. A
multipath decision is a chain of ifs in which the statement associated
with each else is an if or elif.

Loops cause a section of your program to be repeated a certain
number of times. Python provides two types of looping constructs-
For loop and While loop.

G. Answer Briefly.

1.

The if...else statement is an extension of the simple if statement. The
if..else statement evaluates test expression and will execute body of
if only when test condition is True. If the condition is False, body of
else is executed. Indentation is used to separate the blocks.
Syntax:

if test expression:

Body of if
else:

Body of else

The while Loop in python is used to repeat a block of statements for
given number of times, until the given condition is False.

Syntax: while test_expression:

Nesting is the process of placing the if or if-else or elif statement in
another statement. It enables us to make complex decisions based
on different inputs. Nested-if statement uses nesting.

Syntax:
if condition:
if condition:
statements
else:
statements
else:
statements




4. The for loop is used to repeat a block of statements until there is no
items in Object (String, List, Tuple or any other object) in Python.
Syntax: for variable in Object:

Application Based Question.

Break statement should be used to jump out of the loop unconditionally
in a program.




